log AY/Y)

log (Y/AY)

LABJNDu9-Dreieckshelligkeit t*
Yn=Yw nc=100,

L ABINDU9 =IN(A 17 +A2Y)(A2rAon)  (Ynd/100<Y<=Y,o)
t 97 IN(A 1A X (A A0 (X=YTY)
o PR 0 M Han s b etipera - ¢
L5=49,t =17%9 ot
o 1
* 1
- 1
1

L)
t*90=2'70,8 ., A= WH666, &u: ,0438 ¢=0,42
t*1g=1779,7 3, A= 007, A=0.

th36=782,77 15=1 -9 78 Y= 18. Qg;glecmdungs

,' - Pt
- XN=0.2  1Xw=5

LABJINDu9
Normfarbwertdifferenz
Yoc=Yw - nc=100,
tLaBINDU9 =IN(A 10 +A2Y)/(A2rA0n)  (Yne/100<Y<=Y,o)
1 ABINDU9 =IN(A 10 +A2X)(A2Aon) - (X=YTY)
dY=Agn(A1+AzY)=Aon(A1+Ag,X). Siehe CIE 230:2019
dYoq=0.15, Ay=0,6666, £,=0,0438, ¢=0,42
dY;g=0,03, A\;=0,007, A4,=0,0024
dY3,6=0,01 Y, =18, dY=0,03

| Lus1780.d%,70.03 dY. ¥, 700558 2 AnwendungsH
log(dY)=0,03 m,=",85 & bereich
%=1

LABJINDu9
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,
tLaBINDU9 =IN(A 1+ A2 Y)/(A2rA0n)  (Ync/100<Y<=Y,o)
L ABINDU9 =IN(A 10 +A2X)(A2iAon) - (X=YTY)
AY/Y=Aon(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/¥}5=0,0016, A,=0,6666, /4,=0,0438, ¢=0,42
(dY/Y)5=0,0018, A=0,007, A,=0,0024
(dY/Y} =0,6520 Y. =18, dY=0,03

Anwendungs
bereich

log(dY/Y)E-2,72 m——o et ) .

bo1780 d¥,=0,02 dY/Y, Q.00 i1 ™ !
XN=0,2 Xw=5

LABJINDu9
Normfarbwertkontrast

Yoc=Yw nc=100,

L ABINDU9=IN(A 17+ A2Y)(A2rA0n)  (Ynd/L00<Y<=Y;,0)

t* L ABINDug =IN(A 10 A X) (A Aon)  (X=YTY,)

YIGY=Y/A g Ag Ao V)IEX Y TA oAt Ag )]
t*,=1780Q dY,=0,03 Y,/dY, 529 aanE

log(Y/dY)=2,72 m,= o 1348 32
1
I

(Y/dY bo=596 54, Ay=0,6666, A=0,0438, 404
(YIdY)g=C29 B2, A4,=0,007, A EO, oozggglecndungs
(VIdY) 539,41 ;=18 dY=0.08

Xn=0,2  Txy=5

C,=(Y/AY)

LABJINDu9 relative Dreieckshelligkeit t*/t*,

e Yoc=Yw nc=100,

tLaBINDug =IN(A1n+AZ Y (A2rAcn)  (Yad/100<Y<=Y,o)
L ABINDug =IN(A 17+ A2X)/(A2iA0n) - (X=YTY)
t*(3,6)=783* ,(18)=17801*\(90)=2771

t*goft*=1,55, Ap,=0,6666, A,=0,0438, ¢=0,42
t*1g/t*=1,00, A,=0,007, A,=0,0024
t+3 gt*=0,43,t,=1779,78 =18

log[t*/t* ]=0, m,;=0,33

Iog(AY/AY )

LABJNDuS9 relative
Normfarbwertdifferenz
Yoc=Yw - nc=100,
tLaBINDug =IN(A1n+A Y (A2rAon)  (Yad/100<Y<=Y,o)
tLagaNDug =IN(A 1n+A2X)(A2iAon) - (X=Y/Yy)
dY/dY =(A1tAX)/(A1+AY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,0438, ¢=0,42
dY,g/dY,=1,00, A,;=0.007, A.=0,0024
dYs gdY,=0,31 Y,=18, d\5.03

AY/AY,

Anwendungs-
bereich

log [AYY) I (AYIY),]

LABJNDu9 relative
Normfarbwertempfindlichkeit

SSu=OYMIBYN)y . =y, - =100,
tLagaNDug =IN(A1n+A Y (A2rAcn)  (Yad/100<Y<=Y,o)
tLagINDug =IN(A 1n+A2X) (A2iAon) - (X=YTYy)
@Y/YY(AYIY)=[(A 1+ A X (A 17 +A)
(AYID/(AY/Y)- .88, Ayi=0,6666, 4,=0,0438, §=0,42
(dY/Y)g/(dY/Y)=1.00, . =0.007. A=0,0024
(@YY g(dYY)=1,53 YU 118 dY=0,03

Ay NN
log[(dY/YY(dY/Y),]=0, m=-0,13 1

t*,=1780 dY,=0,03 d¥,/Y,=0,0014
=1

Anwendungs-
bereich

log [(Y/AY) I (YAY),]

XN=0,2 Xw=5

LABJNDuO relativer
Normfarbwertkontrast

CIC=(YIBY(YIBY), N oy e,
tLaBINDUg =IN(A1n+AZ ) (A2rAcn)  (Yad100<Y<=Y,o)
tLagINDug =IN(A 1ntA2 )/ (A2iAon) - (X=YTYy)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)hg/(Y/dY)=1,12, A)=0,6666, A,=0,0438, ¢=0,42
(Y/dY) /(Y/dY)=1,00, A,=0,007, A4,=0,0024
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,03

log[(Y/dY)(Y/dY),]=0, m=0,13




